
Directional Panel Antenna
for 5.0 / 5.2 / 5.6 / 5.8 GHz
SAA04-20212A

Version 1

Mounting Configuration (Pole Mounting)
There are down-tilt & side-tilt features on both vertical and horizontal mounting

Vertical Polarization
Verical Pole Mounting:

Horizontal Polarization
Horizontal Pole Mounting:

Vertical Polarization
Horizontal Pole Mounting:

Horizontal Polarization
Vertical Pole Mounting:

R0420-052

http:// www.smartant.com TEL: +886 (0)3 583-6000 FAX: +886 (0)3 583-7000 E-mail: service@smartant.com
All right reserved by SmartAnt Telecom Co., Ltd.

P1

1. M-TYPE BREAKET(L) 1Pcs
2. Space Keeper 2Pcs
3. M6 S/W(6.1*12.2*1.5) 2Pcs
4. M6-1.0 NUT(10*5)5 2Pcs
5. STEEL TUBE 93.2 mm 1Pcs
6. XHM8-1.25*120 1Pcs
7. M8 S/W 3Pcs
8. M8 W 4Pcs

9. M8 Nut 1Pcs
10. Rotating bracket 1Pcs
11. XHM8-1.25*20 2Pcs
12. Mounting Main fram 1Pcs
13. 1/2" U-Type Screw 2Pcs
14. 1/2" S/W 2Pcs
15. 1/2" W 2Pcs
16. 1/2" Nut 2Pcs



Directional Panel Antenna
for 5.0 / 5.2 / 5.6 / 5.8 GHz
SAA04-20212A

Version 1

Mounting Configuration (Wall Mounting)
There are down-tilt & side-tilt features on both vertical and horizontal mounting

Vertical Polarization
Wall Mounting:

Horizontal Polarization
Wall Mounting:

R0420-052

http:// www.smartant.com TEL: +886 (0)3 583-6000 FAX: +886 (0)3 583-7000 E-mail: service@smartant.com
All right reserved by SmartAnt Telecom Co., Ltd.

P1

1. M-TYPE BREAKET(L) 1Pcs
2. Space Keeper 2Pcs
3. M6 S/W(6.1*12.2*1.5) 2Pcs
4. M6-1.0 NUT(10*5)5 2Pcs
5. STEEL TUBE 93.5 mm 1Pcs
6. XHM8-1.25*120 1Pcs
7. M8 S/W 3Pcs

8. M8 W 4Pcs
9. M8 Nut 1Pcs
10. Rotating bracket 1Pcs
11. XHM8-1.25*20 2Pcs
12. Mounting Main fram 1Pcs
13. Wall TIGER 4Pcs
14. TH 5/32-16*1" 4Pcs

8


